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By 3% AFI07H4-03 H 03 H otk - 102 b (Biir)
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K IR B 10. 00| FA % 120 1,200 2,052 1,872 1,512
X H D e E 12. 00 [ #H%f 310 3,720 3,024 2,191 1, 539
F 9 NAEL w5 4. 00| FH%f 116 464| 2,484| 2,410| 1,944
B A ] 1L 1. 00| FHxf 245 245 1,836 1,706| 1,620
A M5 2. 00 | FH %} 314 628 1,080 904 540
[N (r— 5. 00| FHxf 1, 258 6,290 1,836 1,577 1,134
SR Ak L 2. 00 | FHx} 30 60| 4,104 2,959 2,160
£ A AL 20. 00 | #H 5%} 1,093 21,860| 3,240 2,189 1,080
= E | 10.00(fHkF| 1ol 1,100 3,780 2,376| 1,080
LA A O 10. 00| AHxf 615 6,150 3,240 2,506| 1,242
P=—LF R 5 [ 4. 00| AHxf 566 2,264 2,160 1,778 1,512
Tuyal— 5 6. 00 | FH%f 397 2,382 4,212 2,766| 1,404
& | 6.00| k%t | 6| 6] | 3,240
AEMEE w5 0. 10| #Hxf | 2, 150 215 194 126 65
ZDEH £ ¥ 0. 20 [ #H%} 2,100 420 86 78 57

LU E B 0. 20 | FHx} 150 30 70
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TR EA Fosk L 10. 00 | #H%f 139 1, 390 3, 966

VAN Foak L 10. 00| AHxf 12 120 3, 564

5 U H A& 10. 00 | #H%f 134 1,340 5,184| 4,964| 4,517

Yata—L H H 10. 00 | #H%f 98 980| 3,672 3,654| 3,564

Avava 7 4 U ¥ | 13.00]| A%t 17 221 4,104 2,220 594

HEFH D & [ 0. 27 | ¥Ax} 4, 820 1, 304 540 459 378

S 5 0.25| #Hxt [ 11,431 2, 864 486 382 162

IRBHD Y £ IH 0. 25| FH*} 4,113 1,033 410 347 216




